2019411A28 (L)

E16[E ZENDEH (IRDER)

I 3z K 4% OUT | IN |[+k—%JL|HDCP| #uk | {#ZE
1 X Fk 43 38 81 9.6 71.4 =)
2 il &% 37 42 79 7.2 71.8 =
3 &O =— 43 46 89 16.8 72.2 =
4 wa 55 44 39 83 10.8 72.2 =
5 8 2 41 36 77 4.8 72.2 =
6 A EXR 38 37 75 2.4 72.6
7 1k 7 KRl 43 49 92 19.2 72.8 RE
8 JRE IE 41 39 80 7.2 72.8
9 FH @ 49 48 97 24 73
10 AH BE 44 40 84 10.8 73.2 RE
11 =2k (B 42 36 78 4.8 73.2
12 Z)I Bkt 40 43 83 9.6 73.4
13 AE EZ 44 37 81 7.2 73.8
14 FIH B 51 42 93 19.2 73.8
15 R FEN 46 41 87 13.2 73.8
16 hit H#X 53 46 99 25.2 73.8
17 iR EX 40 40 80 6 74
18 | JIEA F# 43 49 92 18 74
19 B Bt 41 44 85 10.8 74.2
20 EH & 50 46 96 21.6 74.4 RE
21 BEE Flsh 43 45 88 13.2 74.8
22 =k 8| 40 36 76 1.2 74.8
23 HKk R 50 49 99 24 75
24 R Bt 51 42 93 18 75
25 AE 39 42 81 6 75
26 &= BEE 48 50 98 22.8 75.2
27 EA X 49 43 92 16.8 75.2




28 FH Ef 48 44 92 16.8 75.2
29 #O =F 52 51 103 27.6 75.4
30 28 sh% 41 38 79 3.6 75.4 RE
31 Nk RAE 43 48 01 15.6 75.4
32 BA EX 50 40 90 14.4 75.6
33 =H KA 44 45 89 13.2 75.8
34 ®EE Rsh 50 51 101 25.2 75.8
35 A% 1FE 44 44 88 12 76
36 B+ #7F 44 43 87 10.8 76.2
37 fRIER E 46 41 87 10.8 76.2
38 kg B 41 39 80 3.6 76.4
39 XAl #E 48 49 97 20.4 76.6
40 R Hif 45 46 91 14.4 76.6 RE
41 #E FF 53 44 97 20.4 76.6
42 WA RiE 48 43 91 14.4 76.6
43 - N 51 40 91 14.4 76.6
44 Ek & 49 52 101 24 77
45 kg X5 53 46 99 21.6 77.4
46 EK £Z 50 48 98 20.4 77.6
47 HIR X5 51 46 97 19.2 77.8
48 HF iE 54 55 109 31.2 77.8
49 ® FHRE 52 50 102 24 78
50 HE E2Z 55 53 108 30 78 RE
51 B EiH 44 45 89 10.8 78.2
52 defE s 45 49 94 15.6 78.4
53 R 8XER 51 47 98 19.2 78.8
54 fRE PHER 49 48 97 18 79
55 g B 51 52 103 24 79
56 A EE 57 52 109 30 79
57 AH FE 52 51 103 24 79
58 ES R— 50 46 96 16.8 79.2
59 i 45 45 90 10.8 79.2




60 ek 4% 50 51 101 21.6 79.4 RE
61 EE B 48 46 94 14.4 79.6
62 Elik BAf{E 38 54 92 12 80
63 RE ST 53 50 103 22.8 80.2
64 B —H# 51 46 97 16.8 80.2
65 RE E=E 49 54 103 22.8 80.2
66 Al & 51 57 108 27.6 80.4
67 =K BRX 47 55 102 21.6 80.4
68 H# f#xk 53 54 107 26.4 80.6
69 =i BB 51 44 95 14.4 80.6
70 IR Eif 62 55 117 36 81
71 EJ)Il BBE 41 46 87 6 81
72 % i 53 49 102 20.4 81.6
73 AR BEA 51 51 102 20.4 81.6
74 TE 7 46 55 101 19.2 81.8
75 & shi@ 55 49 104 21.6 82.4
76 =H F— 50 52 102 19.2 82.8
77 H X 56 52 108 25.2 82.8
78 FHE A 55 52 107 24 83
79 BElR AA 59 60 119 36 83
80 AH S 52 47 99 15.6 83.4
81 R BE— 64 56 120 36 84
82 il FR 60 52 112 27.6 84.4
83 | ™Y HNZE | 62 49 111 25.2 85.8
84 ME i 66 55 121 34.8 86.2
85 IR HSE 54 64 118 31.2 86.8
86 A BEE 70 56 126 36 90
87 2R B 69 60 129 36 93
88 | ARHE HTE | 72 58 130 36 94
89 B 1EX 73 64 137 36 101
90 kR EH 70 70 140 36 104 BBE
91 [REH ZEH 83 77 160 36 124




F16[E] SEDEMH (FIORDER)

NI 32 K4 OUT | IN |[+k—%JL|HDCP| #uk | {#ZE
1 AE 39 36 75 4.8 70.2 g
2 il &% 37 36 73 2.4 70.6 =
3 IUE 5 48 36 84 13.2 70.8 =
4 K B 51 36 87 15.6 71.4 =
5 B+ #7F 44 36 80 8.4 71.6 =
6 ES R— 50 36 86 14.4 71.6
7 &O =— 43 36 79 7.2 71.8 RE
8 FAX Fi 43 36 79 7.2 71.8
9 & 7 KR 43 36 79 7.2 71.8
10 hit H#X 53 36 89 16.8 72.2 RE
11 AH FE 52 36 88 15.6 724 | BAE
12 g B 51 36 87 14.4 72.6
13 A EiE 45 36 81 8.4 72.6
14 =2k (B 42 36 78 4.8 73.2
15 HF iE 54 36 90 16.8 73.2 RE
16 8 2 41 36 77 3.6 73.4
17 =k 8| 40 36 76 2.4 73.6
18 R FEN 46 36 82 8.4 73.6
19 K R 50 36 86 12 74
20 B EiH 44 36 80 6 74 RE
21 B2 Flsh 43 36 79 4.8 74.2
22 FH @ 49 36 85 10.8 74.2
23 XAl #E 48 36 84 9.6 74.4
24 &= BEE 48 36 84 9.6 74.4
25 kg B 41 36 77 2.4 74.6 RE
26 defE ia 45 36 81 6 75
27 =H KA 44 36 80 4.8 75.2
28 BA EX 50 36 86 10.8 75.2




29 =H F— 50 36 86 10.8 75.2
30 kg X5 53 36 89 13.2 75.8 RE
31 H# 2k 53 36 89 13.2 75.8
32 RE ST 53 36 89 13.2 75.8
33 AH S 52 36 88 12 76
34 R HiG 45 36 81 4.8 76.2
35 =K £= 50 36 86 9.6 76.4 RE
36 IR Eif 62 36 08 21.6 76.4
37 &7 shi@ 55 36 91 14.4 76.6
38 Bk [E 49 36 85 8.4 76.6
39 FH Ef 48 36 84 7.2 76.8
40 BER FA 59 36 95 18 77 RE
41 HE X8 51 36 87 9.6 77.4
42 R BXER 51 36 87 9.6 77.4
43 wWEE Bt 51 36 87 9.6 77.4
44 il FR 60 36 96 16.8 79.2
45 iZHE X 56 36 92 12 80 RE
46 A BEE 70 36 106 25.2 80.8
47 2/ B 69 36 105 24 81
48 ME i 66 36 102 19.2 828 | BBE
49 | ARHE HBTE | 72 36 108 21.6 86.4 |7RZILE

F16[E IEDEH (1 DER)

I 3z K4 OUT | IN |[+k—%JL|HDCP| #Ruk | {#ZE
1 A 85 36 39 75 4.8 70.2 (=
2 L HNZzE | 36 49 85 14.4 70.6 =)
3 BiE EX 36 40 76 4.8 71.2 =
4 AH BE 36 40 76 4.8 71.2 =)
5 FO = 36 51 87 15.6 71.4 =)
6 AN BA 36 51 87 15.6 71.4
7 =47 BB= 36 44 80 8.4 71.6 RE




8 ® FHRE 36 50 86 14.4 71.6
9 #E FF 36 44 80 8.4 71.6
10 Nk RAE 36 48 84 12 72 RE
11 FIH A 36 42 78 6 72 LRE
12 fIER E 36 41 77 4.8 72.2
13 B —H 36 46 82 9.6 72.4
14 #28 sh% 36 38 74 1.2 72.8
15 A% 1FE 36 44 80 7.2 72.8 RE
16 A EXR 36 37 73 0 73
17 AME EZ 36 37 73 0 73
18 fRE PHER 36 48 84 10.8 73.2
19 RE E=E 36 54 90 16.8 73.2
20 FHE A 36 52 88 14.4 73.6 RE
21 A EE 36 52 88 14.4 73.6
22 JRE IE 36 39 75 1.2 73.8
23 HE E2 36 56 92 18 74
24 B Bt 36 44 80 6 74
25 Z)I Bkt 36 43 79 4.8 74.2 RE
26 =K ®HX 36 55 91 16.8 74.2
27 % i 36 49 85 10.8 74.2
28 EA X 36 43 79 4.8 74.2
29 EE i 36 46 82 7.2 74.8
30 EE B 36 46 82 7.2 74.8 RE
31 Elfk 5A{E 36 54 90 14.4 75.6
32 EJ)Il BBE 36 46 82 6 76
33 ®EE sk 36 51 87 10.8 76.2
34 | JIEH FHi 36 49 85 8.4 76.6
35 Bk T4 36 51 87 9.6 77.4 RE
36 TE ZFq 36 55 91 13.2 77.8
37 B 1EX 36 64 100 20.4 79.6
38 IREY flA 36 64 100 20.4 79.6
39 U 36 57 93 13.2 79.8




40 L BHE— 36 56 92 10.8 81.2 RE
41 RE EH 36 70 106 21.6 844 | BBE
42 [EmR EH 36 77 113 24 89 |HRAILE




